



Some results and examples of the biharmonic maps with potential

ABDELKADER ZAGANE^a, SEDDIK OUAKKAS^{b,*}

^aDepartment of mathematics - University of Mascara, Algeria

^bLaboratory of Geometry, Analysis, Control and Applications, University of Saida, Algeria

Received 24 December 2017; revised 21 March 2018; accepted 4 April 2018

Available online 13 April 2018

Abstract. In this paper, we will study the class of biharmonic maps with potential, in the particular case represented by conformal maps between equidimensional manifolds. Some examples are constructed in particular cases (Euclidean space and sphere).

Keywords: Harmonic map with potential; Biharmonic map with potential; Conformal maps

Mathematics Subject Classification: 31B30; 53C25; 58E20; 58E30

1. INTRODUCTION

The notion of harmonic maps with potential was first suggested by A. Ratto and A. Fardoun (see [5] and [9]). Let (M^m, g) and (N^n, h) be Riemannian manifolds, H a smooth function on N , and let $\phi : M \rightarrow N$ be a smooth map. We consider the following energy functional

$$E_H(\phi) = \int_K (e(\phi) - H(\phi)) dv_g \quad (1)$$

for any compact subset $K \subset M$. The Euler–Lagrange equation of $E_H(\phi)$ is

$$\tau_H(\phi) = \tau(\phi) + (\text{grad}^N H) \circ \phi = 0, \quad (2)$$

* Corresponding author.

E-mail addresses: a.zaagane@yahoo.com (A. Zagane), seddik.ouakkas@univ-saida.dz (S. Ouakkas).

Peer review under responsibility of King Saud University.



where $\tau(\phi) = Tr_g \nabla d\phi$ is the tension field of ϕ . The smooth solutions of (2) will be called harmonic maps with potential H . One can refer to [3], [5] and [9] for background on harmonic maps with potential. In [4], the authors calculate the second variation for harmonic maps with potential and they introduce the notion of biharmonic maps with potential. In this paper, we will recalculate the second variation of the H -energy and the first variation of the H -bi-energy (Theorems 1 and 2). As the second result we give the relation between $\tau_{2,H}(\phi)$ and $\tau_2(\phi)$ (Theorem 3) where we study the case of the identity map (Corollary 2 and Theorem 2) and we construct some examples of biharmonic with a potential. Finally, we study the particular of the conformal maps between equidimensional manifolds (Theorems 5 and 6).

2. THE SECOND VARIATION OF THE H -ENERGY FUNCTIONAL

Let $\phi : (M^m, g) \rightarrow (N^n, h)$ be a harmonic map with potential H between Riemannian manifolds. By a two parameter variation we mean a smooth map $\Phi : M \times (-\epsilon, \epsilon) \times (-\epsilon, \epsilon) \rightarrow N$ defined by $\Phi(x, t, s) = \phi_{t,s}(x)$, such that $\phi_{0,0} = \phi$. Its variation vector fields are the vector fields v, w along ϕ defined by

$$v = \left. \frac{\partial \phi_{t,s}}{\partial t} \right|_{t=s=0}$$

and

$$w = \left. \frac{\partial \phi_{t,s}}{\partial s} \right|_{t=s=0}.$$

Now suppose that M is compact and let ∇^ϕ denote the pull-back connection on $\phi^{-1}TN$. By the Leibniz rule,

$$(\nabla^\phi)_{X,Y}^2 v = \nabla_X^\phi \nabla_Y^\phi v - \nabla_{\nabla_X^M Y}^\phi v$$

for any $X, Y \in \Gamma(TM)$ and $v \in \Gamma(\phi^{-1}TN)$. On taking the trace we obtain

$$Tr_g(\nabla^\phi)^2 v = \nabla_{e_i}^\phi \nabla_{e_i}^\phi v - \nabla_{\nabla_{e_i}^M e_i}^\phi v,$$

where $\{e_i\}_{1 \leq i \leq m}$ is an orthonormal frame on M and where we sum over repeated indices. Under the notation above we have the following :

Theorem 1 (The Second Variation Formula). *Let $\phi : (M^n, g) \rightarrow (N^n, h)$ be a harmonic map with potential H and suppose that M is compact, we have*

$$\left. \frac{\partial^2}{\partial t \partial s} E_H(\phi_{t,s}) \right|_{t=s=0} = \int_M h(J_H^\phi(v), w) dv_g, \tag{3}$$

where $J_H^\phi(v) \in \Gamma(\phi^{-1}TN)$ is given by

$$J_H^\phi(v) = -Tr_g(\nabla^\phi)^2 v - Tr_g R^N(v, d\phi) d\phi - (\nabla_v^N grad^N H) \circ \phi. \tag{4}$$

Proof of Theorem 1. Let $\Phi : M \times (-\epsilon, \epsilon) \times (-\epsilon, \epsilon) \rightarrow N, (x, t, s) \mapsto \Phi(x, t, s) = \phi_{t,s}(x)$ be a smooth variation of ϕ with variation vector fields v and w . Let ∇^Φ denote the pull-back connection on $\Phi^{-1}TN$, a vector bundle over $M \times (-\epsilon, \epsilon) \times (-\epsilon, \epsilon)$. Note that

$$\left[\frac{\partial}{\partial t}, X \right] = \left[\frac{\partial}{\partial s}, X \right] = \left[\frac{\partial}{\partial t}, \frac{\partial}{\partial s} \right] = 0$$

for any vector field X on M considered as a vector field on $M \times (-\epsilon, \epsilon) \times (-\epsilon, \epsilon)$. By Eq. (1), we have

$$\frac{\partial^2}{\partial t \partial s} E_H(\phi_{t,s}) = \int_M \frac{\partial^2}{\partial t \partial s} (e(\phi_{t,s}) - H(\phi_{t,s})) dv_g. \quad (5)$$

We evaluate this at $(t, s) = (0, 0)$. Calculating in a normal frame at $x \in M$, we obtain

$$\begin{aligned} \frac{\partial^2}{\partial t \partial s} e(\phi_{t,s}) &= \frac{1}{2} \frac{\partial^2}{\partial t \partial s} h(d\Phi(e_i), d\Phi(e_i)) \\ &= \frac{\partial}{\partial t} h\left(\nabla_{\frac{\partial}{\partial s}}^\Phi d\Phi(e_i), d\Phi(e_i)\right), \end{aligned}$$

then

$$\frac{\partial^2}{\partial t \partial s} e(\phi_{t,s}) = h\left(\nabla_{\frac{\partial}{\partial t}}^\Phi \nabla_{\frac{\partial}{\partial s}}^\Phi d\Phi(e_i), d\Phi(e_i)\right) + h\left(\nabla_{\frac{\partial}{\partial s}}^\Phi d\Phi(e_i), \nabla_{\frac{\partial}{\partial s}}^\Phi d\Phi(e_i)\right). \quad (6)$$

For the first term $h\left(\nabla_{\frac{\partial}{\partial t}}^\Phi \nabla_{\frac{\partial}{\partial s}}^\Phi d\Phi(e_i), d\Phi(e_i)\right)$ of (6), we have

$$\begin{aligned} h\left(\nabla_{\frac{\partial}{\partial t}}^\Phi \nabla_{\frac{\partial}{\partial s}}^\Phi d\Phi(e_i), d\Phi(e_i)\right) &= h\left(\nabla_{\frac{\partial}{\partial t}}^\Phi \nabla_{e_i}^\Phi d\Phi\left(\frac{\partial}{\partial s}\right), d\Phi(e_i)\right) \\ &= h\left(\nabla_{e_i}^\Phi \nabla_{\frac{\partial}{\partial t}}^\Phi d\Phi\left(\frac{\partial}{\partial s}\right), d\Phi(e_i)\right) \\ &\quad + h\left(R^N\left(d\Phi\left(\frac{\partial}{\partial t}\right), d\Phi(e_i)\right) d\Phi\left(\frac{\partial}{\partial s}\right), d\Phi(e_i)\right). \end{aligned}$$

Define a 1-form on M by

$$\alpha(\cdot) = h\left(\nabla_{\frac{\partial}{\partial t}}^\Phi d\Phi\left(\frac{\partial}{\partial s}\right)\Big|_{t=s=0}, d\Phi(\cdot)\right).$$

Then

$$div \alpha = h\left(\nabla_{e_i}^\Phi \nabla_{\frac{\partial}{\partial t}}^\Phi d\Phi\left(\frac{\partial}{\partial s}\right)\Big|_{t=s=0}, d\phi(e_i)\right) + h\left(\nabla_{\frac{\partial}{\partial t}}^\Phi d\Phi\left(\frac{\partial}{\partial s}\right)\Big|_{t=s=0}, \tau(\phi)\right),$$

it follows that

$$\begin{aligned} h\left(\nabla_{\frac{\partial}{\partial t}}^\Phi \nabla_{\frac{\partial}{\partial s}}^\Phi d\Phi(e_i), d\Phi(e_i)\right)\Big|_{t=s=0} &= div \alpha - h\left(\nabla_{\frac{\partial}{\partial t}}^\Phi d\Phi\left(\frac{\partial}{\partial s}\right)\Big|_{t=s=0}, \tau(\phi)\right) \\ &\quad + h\left(R^N(v, d\phi(e_i))w, d\phi(e_i)\right). \end{aligned} \quad (7)$$

For the second term $h\left(\nabla_{\frac{\partial}{\partial s}}^\Phi d\Phi(e_i), \nabla_{\frac{\partial}{\partial s}}^\Phi d\Phi(e_i)\right)$ of (6), we have

$$\begin{aligned} h\left(\nabla_{\frac{\partial}{\partial s}}^\Phi d\Phi(e_i), \nabla_{\frac{\partial}{\partial s}}^\Phi d\Phi(e_i)\right) &= h\left(\nabla_{e_i}^\Phi d\Phi\left(\frac{\partial}{\partial s}\right), \nabla_{e_i}^\Phi d\Phi\left(\frac{\partial}{\partial s}\right)\right) \\ &= e_i\left(h\left(d\Phi\left(\frac{\partial}{\partial s}\right), \nabla_{e_i}^\Phi d\Phi\left(\frac{\partial}{\partial s}\right)\right)\right) \\ &\quad - h\left(d\Phi\left(\frac{\partial}{\partial s}\right), \nabla_{e_i}^\Phi \nabla_{e_i}^\Phi d\Phi\left(\frac{\partial}{\partial s}\right)\right). \end{aligned}$$

Define a 1-form on M by $\beta(\cdot) = h(w, \nabla^\phi v)$. By calculating the divergence of β , we obtain

$$h\left(\nabla_{\frac{\partial}{\partial s}}^\phi d\Phi(e_i), \nabla_{\frac{\partial}{\partial s}}^\phi d\Phi(e_i)\right)\Big|_{t=s=0} = \operatorname{div} v\beta - h\left(w, \nabla_{e_i}^\phi \nabla_{e_i}^\phi v\right),$$

which gives us

$$\begin{aligned} \frac{\partial^2}{\partial t \partial s} e(\phi_{t,s})\Big|_{t=s=0} &= -h\left(\nabla_{e_i}^\phi \nabla_{e_i}^\phi v, w\right) - h\left(R^N(v, d\phi(e_i)) d\phi(e_i), w\right) \\ &+ \operatorname{div} \alpha + \operatorname{div} v\beta - h\left(\nabla_{\frac{\partial}{\partial t}}^\phi d\Phi\left(\frac{\partial}{\partial s}\right)\Big|_{t=s=0}, \tau(\phi)\right). \end{aligned} \tag{8}$$

Finally, a simple calculation gives

$$\begin{aligned} \frac{\partial^2}{\partial t \partial s} H(\phi_{t,s})\Big|_{t=s=0} &= h\left(\nabla_{\frac{\partial}{\partial t}}^\phi d\Phi\left(\frac{\partial}{\partial s}\right)\Big|_{t=s=0}, (\operatorname{grad}^N H) \circ \phi\right) \\ &+ h\left((\nabla_v^N \operatorname{grad}^N H) \circ \phi, w\right). \end{aligned} \tag{9}$$

By replacing Eqs. (8) and (9) in (5) and using the divergence theorem, we obtain

$$\frac{\partial^2}{\partial t \partial s} E_H(\phi_{t,s})\Big|_{t=s=0} = \int_M h\left(J_H^\phi(v), w\right) dv_g,$$

where $J_H^\phi(v) \in \Gamma(\phi^{-1}TN)$ is given by

$$J_H^\phi(v) = -\operatorname{Tr}_g(\nabla^\phi)^2 v - \operatorname{Tr}_g R^N(v, d\phi) d\phi - (\nabla_v^N \operatorname{grad}^N H) \circ \phi.$$

3. BIHARMONIC MAPS WITH POTENTIAL

Consider a smooth map $\phi : (M^m, g) \rightarrow (N^n, h)$ between Riemannian manifolds and let H be a smooth function on N . A natural generalization of harmonic maps with potential is given by integrating the square of the norm of $\tau_H(\phi)$. More precisely, the H -bi-energy functional of ϕ is defined by

$$E_{2,H}(\phi) = \int_K |\tau_H(\phi)|^2 dv_g \tag{10}$$

for any compact subset $K \subset M$.

Definition 1. The map ϕ is said to be biharmonic with potential H if it is a critical point of the H -bi-energy functional $E_{2,H}(\phi)$.

3.1. The first variation of the H -bi-energy functional

Theorem 2. Let $\phi : (M^m, g) \rightarrow (N^n, h)$ be a smooth map between Riemannian manifolds and H a smooth function on N , K a compact subset of M and let $\{\phi_t\}_{t \in I}$, $I = (-\epsilon, \epsilon)$ be a smooth variation of ϕ with compact support in K . Then

$$\frac{d}{dt} E_{2,H}(\phi_t)\Big|_{t=0} = - \int_K h(\tau_{2,H}(\phi), V) dv_g, \tag{11}$$

where V denotes the variation vector field of $\{\phi_t\}_{t \in I}$ and

$$\tau_{2,H}(\phi) = -\operatorname{Tr}_g(\nabla^\phi)^2 \tau_H(\phi) - \operatorname{Tr}_g R^N(\tau_H(\phi), d\phi) d\phi - (\nabla_{\tau_H(\phi)}^N \operatorname{grad} H) \circ \phi.$$

Proof of Theorem 2. Let $\{\phi_t\}_{t \in I}$, $I = (-\epsilon, \epsilon)$, be a smooth variation of ϕ , i.e. a smooth map $\Phi : I \times M \rightarrow N$, satisfying

$$\begin{cases} \Phi(t, x) = \phi_t(x), \forall (t, x) \in I \times M \\ \Phi(0, x) = \phi_0(x) = \phi(x), \forall x \in M. \end{cases}$$

The variation vector field $V \in \Gamma(\phi^{-1}TN)$ associated to the variation $\{\phi_t\}_{t \in I}$ is given by

$$V(x) = \left. \frac{d}{dt} \right|_{t=0} \phi_t(x) = d\Phi_{(0,x)} \left(\frac{\partial}{\partial t} \right) \in T_{\phi(x)}N, \forall x \in M.$$

We have

$$\left. \frac{d}{dt} E_{2,H}(\phi_t) \right|_{t=0} = \int_K h \left(\nabla_{\frac{\partial}{\partial t}} \tau_H(\phi), \tau_H(\phi) \right) dv_g. \tag{12}$$

Let now $\{e_i\}_{i=1}^m$ be a local orthonormal frame field geodesic at $x \in K$, i.e. $\{e_i\}_{i=1}^m$ is a local orthonormal frame field with $(\nabla_{e_i} e_j)_x = 0, \forall i, j = 1, \dots, m$. With respect to $\{e_i\}_{i=1}^m$ we have

$$\nabla_{\frac{\partial}{\partial t}} \tau_H(\phi) = \nabla_{\frac{\partial}{\partial t}}^\phi \nabla_{e_i}^\phi d\phi_t(e_i) + \nabla_{\frac{\partial}{\partial t}}^\phi (grad H) \circ \phi_t.$$

For a given $Z \in \Gamma(TM)$, since $[\frac{\partial}{\partial t}, Z] = 0$, we get

$$\nabla_{\frac{\partial}{\partial t}}^\phi d\phi_t(Z) = \nabla_Z^\phi d\phi_t \left(\frac{\partial}{\partial t} \right) + d\phi_t \left(\left[\frac{\partial}{\partial t}, Z \right] \right) = \nabla_Z^\phi d\phi_t \left(\frac{\partial}{\partial t} \right).$$

By definition of the curvature tensor of (N, h) , we obtain

$$\nabla_{\frac{\partial}{\partial t}}^\phi \nabla_{e_i}^\phi d\phi_t(e_i) = \nabla_{e_i}^\phi \nabla_{\frac{\partial}{\partial t}}^\phi d\phi_t(e_i) + R^N \left(d\phi \left(\frac{\partial}{\partial t} \right), d\phi_t(e_i) \right) d\phi_t(e_i),$$

by the compatibility of ∇^ϕ with h , we have

$$\begin{aligned} h \left(\nabla_{e_i}^\phi \nabla_{\frac{\partial}{\partial t}}^\phi d\phi_t(e_i), \tau_H(\phi_t) \right) &= e_i \left(h \left(\nabla_{\frac{\partial}{\partial t}}^\phi d\phi_t(e_i), \tau_H(\phi_t) \right) \right) \\ &\quad - h \left(\nabla_{\frac{\partial}{\partial t}}^\phi d\phi_t(e_i), \nabla_{e_i}^\phi \tau_H(\phi_t) \right). \end{aligned}$$

Note that

$$\begin{aligned} h \left(\nabla_{\frac{\partial}{\partial t}}^\phi d\phi_t(e_i), \nabla_{e_i}^\phi \tau_H(\phi_t) \right) &= e_i \left(h \left(d\phi_t \left(\frac{\partial}{\partial t} \right), \nabla_{e_i}^\phi \tau_H(\phi_t) \right) \right) \\ &\quad - h \left(d\phi_t \left(\frac{\partial}{\partial t} \right), \nabla_{e_i}^\phi \nabla_{e_i}^\phi \tau_H(\phi_t) \right) \end{aligned}$$

and

$$h \left(\nabla_{\frac{\partial}{\partial t}}^\phi (grad H) \circ \phi_t, \tau_H(\phi_t) \right) = h \left(\left(\nabla_{\tau_H(\phi_t)}^\phi grad H \right) \circ \phi_t, d\phi \left(\frac{\partial}{\partial t} \right) \right).$$

Then, by using the symmetries of the Riemann–Christoffel tensor and the Divergence Theorem, we deduce that

$$\left. \frac{d}{dt} E_{2,H}(\phi_t) \right|_{t=0} = - \int_K h(\tau_{2,H}(\phi), V) dv_g,$$

where

$$\tau_{2,H}(\phi) = -Tr_g(\nabla^\phi)^2 \tau_H(\phi) - Tr_g R^N(\tau_H(\phi), d\phi) d\phi - (\nabla_{\tau_H(\phi)}^N grad H) \circ \phi.$$

Theorem 3. Let $\phi : (M^m, g) \longrightarrow (N^n, h)$ be a smooth map between Riemannian manifolds and H a smooth function on N . Then ϕ is biharmonic with potential if and only if

$$\begin{aligned} \tau_{2,H}(\phi) &= -Tr_g(\nabla^\phi)^2 \tau_H(\phi) - Tr_g R^N(\tau_H(\phi), d\phi) d\phi \\ &\quad - (\nabla_{\tau_H(\phi)}^N grad H) \circ \phi = 0. \end{aligned} \tag{13}$$

If we consider $\phi : (M^m, g) \longrightarrow (N^n, h)$ be a smooth map between Riemannian manifolds and let $H \in C^\infty(N)$ be a smooth function, the relation between $\tau_{2,H}(\phi)$ and $\tau_2(\phi)$ is given by the following remark.

Remark 1. Let $\phi : (M^m, g) \longrightarrow (N^n, h)$ be a smooth map between Riemannian manifolds and H a smooth function on N . Then

$$\begin{aligned} \tau_{2,H}(\phi) &= \tau_2(\phi) - J_\phi((grad H) \circ \phi) - (\nabla_{\tau(\phi)}(grad H)) \circ \phi \\ &\quad - (\nabla_{(grad H) \circ \phi}(grad H)) \circ \phi, \end{aligned} \tag{14}$$

where

$$\begin{aligned} J_\phi((grad H) \circ \phi) &= Tr_g(\nabla^\phi)^2((grad H) \circ \phi) + Tr_g R^N((grad H) \circ \phi, d\phi) d\phi \\ &= \nabla_{e_i}^\phi \nabla_{e_i}^\phi((grad H) \circ \phi) - \nabla_{\nabla_{e_i}^M e_i}^\phi((grad H) \circ \phi) \\ &\quad + R^N((grad H) \circ \phi, d\phi(e_i)) d\phi(e_i), \end{aligned}$$

where we sum over repeated indices.

In the case where ϕ is a harmonic map, we obtain the following corollary.

Corollary 1. Let $\phi : (M^m, g) \longrightarrow (N^n, h)$ be a harmonic map and let $H \in C^\infty(N)$ be a smooth function on N . Then ϕ is biharmonic with potential H if and only if

$$J_\phi((grad H) \circ \phi) + (\nabla_{(grad H) \circ \phi}(grad H)) \circ \phi = 0.$$

We apply this remark to construct some examples of biharmonic maps with potential.

Example 1. Let the projection $\phi : (\mathbb{R}^4, g_{\mathbb{R}^4}) \longrightarrow (\mathbb{R}^3, g_{\mathbb{R}^3})$ defined by $\phi(t, x_2, x_3, x_4) = (t, x_2, x_3)$. Suppose that the function $\alpha = H \circ \phi$ depends only on t , then by [Corollary 1](#), the projection ϕ is biharmonic with potential H if and only if

$$\alpha''' + \alpha' \alpha'' = 0.$$

Let $\beta = \alpha'$, then the last expression becomes

$$\beta'' + \beta \beta' = 0.$$

A particular solution is given by of the form $\beta = \frac{2}{t+k}$ ($k \in \mathbb{R}$) which gives us

$$\alpha(t) = (H \circ \phi)(t) = 2 \ln |C_1 t + C_2|, (C_1, C_2 \in \mathbb{R}).$$

In this case the projection ϕ is biharmonic with potential H , where $(H \circ \phi)(t) = 2 \ln |C_1 t + C_2|$.

In particular, if we consider the identity map, we obtain the following result.

Corollary 2. *The identity map $Id_M : (M^m, g) \longrightarrow (M^m, g)$ is biharmonic with potential H if and only if*

$$grad\Delta H + \frac{1}{2}grad(|gradH|^2) + 2Ricci^M(gradH) = 0. \tag{15}$$

Proof of Corollary 2. By [Corollary 1](#), the identity map $Id_M : (M^m, g) \longrightarrow (M^m, g)$ is biharmonic with potential H if and only if

$$J_{Id_M}(gradH) + \nabla_{gradH}gradH = 0.$$

For the term $J_{Id_M}(gradH)$, by definition we have

$$J_{Id_M}(gradH) = Tr_g \nabla^2 gradH + Ricci(gradH).$$

It is known that (see [\[6\]](#))

$$Tr_g \nabla^2 gradH = grad\Delta H + Ricci(gradH),$$

then

$$J_{Id_M}(gradH) = grad\Delta H + 2Ricci(gradH).$$

Finally, it is easy to see that

$$\nabla_{gradH}gradH = \frac{1}{2}grad(|gradH|^2).$$

We deduce that the identity map $Id_M : (M^m, g) \longrightarrow (M^m, g)$ is biharmonic with potential H if and only if the function H satisfies the following equation

$$grad\Delta H + \frac{1}{2}grad(|gradH|^2) + 2Ricci^M(gradH) = 0.$$

In the following we shall present an example of biharmonic with potential.

Example 2. We consider the identity map $Id : \mathbb{R}^m \longrightarrow \mathbb{R}^m$ when we suppose that H is radial ($H = H(r), r = |x|$). An orthonormal basis of \mathbb{R}^m is given by $e_1 = \frac{\partial}{\partial r}$ and $e_i = (0, \dots, 0, 1, 0, \dots, 0)$ for $i = 2, \dots, m$. We have (see [\[7\]](#))

$$\sum_{i=2}^m \nabla_{e_i} e_i = -\frac{(m-1)}{r} \frac{\partial}{\partial r},$$

$$\Delta H = H'' + \frac{(m-1)}{r} H'$$

and

$$grad(\Delta H) = \left(H'' + \frac{(m-1)}{r} H'' - \frac{(m-1)}{r^2} H' \right) \frac{\partial}{\partial r}.$$

Then by [Corollary 2](#), we deduce that the identity map Id is biharmonic with potential if and only if the function H satisfies the following differential equation

$$H''' + \frac{m-1}{r} H'' - \frac{m-1}{r^2} H' + H' H'' = 0.$$

Let $\beta = H'$, this equation becomes

$$\beta'' + \frac{m-1}{r}\beta' - \frac{m-1}{r^2}\beta + \beta\beta' = 0.$$

Looking for particular solutions of type $\beta = \frac{a}{r}$ ($a \in \mathbb{R}^*$), then Id is biharmonic with potential if and only if $a = 4 - 2m$. We obtain $H(r) = \ln(Cr^{4-2m})$ ($C > 0$) and in this case the identity map $Id : \mathbb{R}^m \rightarrow \mathbb{R}^m$ is proper biharmonic with potential $H(r) = \ln(Cr^{4-2m})$ ($C > 0$).

Example 3. We consider $M = S^n$ with parameterization

$$x = (\cos s, \sin s \cdot y), s \in [0, \pi], y \in S^{n-1}.$$

An orthonormal basis of S^n is given by

$$e_1 = \frac{\partial}{\partial s}, e_i = (0, f_i), i = 2, \dots, n$$

where the vectors f_i are tangents to the sphere S^{n-1} . We suppose that $H = H(s)$. A direct calculation gives

$$gradH = H' \frac{\partial}{\partial s},$$

$$|gradH|^2 = (H')^2,$$

$$grad(|gradH|^2) = 2H'H'' \frac{\partial}{\partial s},$$

$$\Delta H = H'' + (n-1)(\cot s)H',$$

$$grad\Delta H = (H''' + (n-1)(\cot s)H'' - (n-1)(1 + \cot^2 s)H') \frac{\partial}{\partial s}$$

and

$$Ricci^{S^n}(gradH) = (n-1)H' \frac{\partial}{\partial s}.$$

Then by [Corollary 1](#), we deduce that the map Id_{S^n} is biharmonic with potential H if and only if the function $\beta = H'$ satisfies the following differential equation

$$\beta'' + (n-1)(\cot s)\beta' + (n-1)(1 - \cot^2 s)\beta + \beta\beta' = 0.$$

For example, if $n = 1$ the map Id_{S^1} is biharmonic with potential H if and only if

$$\beta'' + \beta\beta' = 0.$$

A particular solution is given by of the form $\beta = \frac{2}{s+k}$ ($k \in \mathbb{R}$) which gives us

$$H(s) = 2 \ln|C_1s + C_2|, (C_1, C_2 \in \mathbb{R}).$$

In this case Id_{S^1} is biharmonic with potential H , where $H(s) = 2 \ln|C_1s + C_2|$.

3.2. The case of conformal maps

We study conformal maps between equidimensional manifolds of the same dimension $n \geq 3$. Note that by a result in [\[2\]](#), any such map can have no critical points and so is a

local conformal diffeomorphism. Recall that a mapping $\phi : (M^n, g) \rightarrow (N^n, h)$ is called conformal if there exists a C^∞ function $\lambda : M \rightarrow \mathbb{R}_+^*$ such that for any $X, Y \in \Gamma(TM)$:

$$h(d\phi(X), d\phi(Y)) = \lambda^2 g(X, Y).$$

The function λ is called the dilation for the map ϕ . The tension field for the map ϕ is given by (see [1]):

$$\tau(\phi) = (2 - n)d\phi(\text{grad } \ln \lambda).$$

Note that the conformal map $\phi : (M^n, g) \rightarrow (N^n, h)$ of dilation λ is harmonic if and only if $n = 2$ or the dilation λ is constant. The bi-tension field of the conformal map is given by the following theorem (see [8])

Theorem 4 ([8]). *Let $\phi : (M^n, g) \rightarrow (N^n, h)$, ($n \geq 3$) be a conformal map of dilation λ , then for any function $\gamma \in C^\infty(M)$, we have*

$$\begin{aligned} Tr_g(\nabla^\phi)^2 d\phi(\text{grad } \gamma) &= d\phi(\text{grad } \Delta \gamma) + 4d\phi(\nabla_{\text{grad } \ln \lambda} \text{grad } \gamma) \\ &\quad + d\phi(\text{Ricci}^M(\text{grad } \gamma)) \\ &\quad + (\Delta \ln \lambda) d\phi(\text{grad } \gamma) - 2(\Delta \gamma) d\phi(\text{grad } \ln \lambda) \\ &\quad - (n - 2) d \ln \lambda (\text{grad } \gamma) d\phi(\text{grad } \ln \lambda), \end{aligned} \quad (16)$$

$$\begin{aligned} Tr_g R^N(d\phi(\text{grad } \gamma), d\phi) d\phi &= d\phi(\text{Ricci}^M(\text{grad } \gamma)) \\ &\quad - (n - 2) d\phi(\nabla_{\text{grad } \gamma} \text{grad } \ln \lambda) \\ &\quad - (\Delta \ln \lambda + (n - 2) |\text{grad } \ln \lambda|^2) d\phi(\text{grad } \gamma) \\ &\quad + (n - 2) d \ln \lambda (\text{grad } \gamma) d\phi(\text{grad } \ln \lambda) \end{aligned} \quad (17)$$

and the bi-tension field of ϕ is given by

$$\tau_2(\phi) = (n - 2) d\phi(T_1)$$

where

$$\begin{aligned} T_1 &= \text{grad } \Delta \ln \lambda - \frac{(n - 6)}{2} \text{grad}(|\text{grad } \ln \lambda|^2) + 2\text{Ricci}^M(\text{grad } \ln \lambda) \\ &\quad - (2(\Delta \ln \lambda) + (n - 2) |\text{grad } \ln \lambda|^2) \text{grad } \ln \lambda. \end{aligned}$$

In the first, we calculate $\tau_{2,H}(\phi)$ for a conformal map ϕ .

Theorem 5. *Let $\phi : (M^n, g) \rightarrow (N^n, h)$, ($n \geq 3$) be a conformal map of dilation λ , then $\tau_{2,H}(\phi)$ is given by :*

$$\tau_{2,H}(\phi) = (n - 2) d\phi(A) - \frac{1}{\lambda^2} d\phi(B) - \frac{1}{\lambda^4} d\phi(C),$$

where

$$\begin{aligned} A &= \text{grad } \Delta \ln \lambda - \frac{(n - 6)}{2} \text{grad}(|\text{grad } \ln \lambda|^2) + 2\text{Ricci}^M(\text{grad } \ln \lambda) \\ &\quad - (2(\Delta \ln \lambda) + (n - 2) |\text{grad } \ln \lambda|^2) \text{grad } \ln \lambda, \\ B &= \text{grad } \Delta(H \circ \phi) - 2(\Delta \ln \lambda) \text{grad}(H \circ \phi) - 2(\Delta(H \circ \phi)) \text{grad } \ln \lambda \\ &\quad - (n - 2) \nabla_{\text{grad}(H \circ \phi)} \text{grad } \ln \lambda - (n - 2) \nabla_{\text{grad } \ln \lambda} \text{grad}(H \circ \phi) \\ &\quad + 2\text{Ricci}^M(\text{grad}(H \circ \phi)) \end{aligned}$$

and

$$C = -|\text{grad}(H \circ \phi)|^2 \text{grad} \ln \lambda + \frac{1}{2} \text{grad} (|\text{grad}(H \circ \phi)|^2).$$

As a consequence to [Theorem 5](#), we have the following result :

Corollary 3. *Let $\phi : (M^n, g) \rightarrow (N^n, h)$, ($n \geq 3$) be a conformal map of dilation $\lambda = 1$, then ϕ is biharmonic with potential if and only if*

$$\text{grad} \Delta(H \circ \phi) + \frac{1}{2} \text{grad} (|\text{grad}(H \circ \phi)|^2) + 2\text{Ricci}^M(\text{grad}(H \circ \phi)) = 0.$$

In particular if $\phi = Id_M$, we obtain [Eq. \(15\)](#) of [Corollary 2](#).

To prove [Theorem 5](#), we need two lemmas. In the first lemma, we give a simple formula of the term $Tr_g(\nabla^\phi)^2(\text{grad}H) \circ \phi$ for a conformal map $\phi : (M^n, g) \rightarrow (N^n, h)$ ($n \geq 3$) of dilation λ and for any function $H \in C^\infty(N)$.

Lemma 1. *Let $\phi : (M^n, g) \rightarrow (N^n, h)$ ($n \geq 3$) be a conformal map of dilation λ , then for any function $H \in C^\infty(N)$, we have*

$$Tr_g(\nabla^\phi)^2(\text{grad}H) \circ \phi = \frac{1}{\lambda^2} d\phi(T_1),$$

where

$$\begin{aligned} T_1 &= \text{grad} \Delta(H \circ \phi) - (\Delta \ln \lambda) \text{grad}(H \circ \phi) - 2(\Delta(H \circ \phi)) \text{grad} \ln \lambda \\ &\quad - (n-2) d \ln \lambda (\text{grad}(H \circ \phi)) \text{grad} \ln \lambda + \text{Ricci}^M(\text{grad}(H \circ \phi)). \end{aligned}$$

Proof of Lemma 1. Let $(e_i)_{1 \leq i \leq n}$ be an orthonormal frame on M , by definition, we have

$$Tr_g(\nabla^\phi)^2(\text{grad}H) \circ \phi = \nabla_{e_i}^\phi \nabla_{e_i}^\phi (\text{grad}H) \circ \phi - \nabla_{\nabla_{e_i}^\phi e_i}^\phi (\text{grad}H) \circ \phi.$$

(Here henceforth we sum over repeated indices.) It is easy to see that

$$(\text{grad}H) \circ \phi = \frac{1}{\lambda^2} d\phi(\text{grad}(H \circ \phi)),$$

which gives us

$$\begin{aligned} Tr_g(\nabla^\phi)^2(\text{grad}H) \circ \phi &= Tr_g(\nabla^\phi)^2 \frac{1}{\lambda^2} d\phi(\text{grad}(H \circ \phi)) \\ &= \nabla_{e_i}^\phi \nabla_{e_i}^\phi \frac{1}{\lambda^2} d\phi(\text{grad}(H \circ \phi)) \\ &\quad - \nabla_{\nabla_{e_i}^\phi e_i}^\phi \frac{1}{\lambda^2} d\phi(\text{grad}(H \circ \phi)). \end{aligned} \tag{18}$$

We have

$$\begin{aligned} \nabla_{e_i}^\phi \frac{1}{\lambda^2} d\phi(\text{grad}(H \circ \phi)) &= \frac{1}{\lambda^2} \nabla_{e_i}^\phi d\phi(\text{grad}(H \circ \phi)) + e_i \left(\frac{1}{\lambda^2} \right) d\phi(\text{grad}(H \circ \phi)) \\ &= \frac{1}{\lambda^2} \nabla_{e_i}^\phi d\phi(\text{grad}(H \circ \phi)) \\ &\quad - \frac{2}{\lambda^2} e_i(\ln \lambda) d\phi(\text{grad}(H \circ \phi)), \end{aligned}$$

then

$$\begin{aligned}
\nabla_{e_i}^\phi \nabla_{e_i}^\phi \frac{1}{\lambda^2} d\phi (grad (H \circ \phi)) &= \nabla_{e_i}^\phi \left(\frac{1}{\lambda^2} \nabla_{e_i}^\phi d\phi (grad (H \circ \phi)) \right) \\
&- \nabla_{e_i}^\phi \left(\frac{2}{\lambda^2} e_i (\ln \lambda) d\phi (grad (H \circ \phi)) \right) \\
&= \frac{1}{\lambda^2} \nabla_{e_i}^\phi \nabla_{e_i}^\phi d\phi (grad (H \circ \phi)) \\
&+ e_i \left(\frac{1}{\lambda^2} \right) \nabla_{e_i}^\phi d\phi (grad (H \circ \phi)) \\
&- \frac{2}{\lambda^2} e_i (\ln \lambda) \nabla_{e_i}^\phi d\phi (grad (H \circ \phi)) \\
&- \frac{2}{\lambda^2} e_i (e_i (\ln \lambda)) d\phi (grad (H \circ \phi)) \\
&- e_i \left(\frac{2}{\lambda^2} \right) e_i (\ln \lambda) d\phi (grad (H \circ \phi)) \\
&= \frac{1}{\lambda^2} \nabla_{e_i}^\phi \nabla_{e_i}^\phi d\phi (grad (H \circ \phi)) \\
&- \frac{4}{\lambda^2} e_i (\ln \lambda) \nabla_{e_i}^\phi d\phi (grad (H \circ \phi)) \\
&- \frac{2}{\lambda^2} e_i (e_i (\ln \lambda)) d\phi (grad (H \circ \phi)) \\
&+ \frac{2}{\lambda^2} e_i (\ln \lambda) e_i (\ln \lambda) d\phi (grad (H \circ \phi)).
\end{aligned}$$

It follows that

$$\begin{aligned}
\nabla_{e_i}^\phi \nabla_{e_i}^\phi \frac{1}{\lambda^2} d\phi (grad (H \circ \phi)) &= \frac{1}{\lambda^2} \nabla_{e_i}^\phi \nabla_{e_i}^\phi d\phi (grad (H \circ \phi)) \\
&- \frac{4}{\lambda^2} \nabla_{grad \ln \lambda}^\phi d\phi (grad (H \circ \phi)) \\
&- \frac{2}{\lambda^2} e_i (e_i (\ln \lambda)) d\phi (grad (H \circ \phi)) \\
&+ \frac{4}{\lambda^2} |grad \ln \lambda|^2 d\phi (grad (H \circ \phi)).
\end{aligned} \tag{19}$$

For the term $\nabla_{\nabla_{e_i} e_i}^\phi \frac{1}{\lambda^2} d\phi (grad (H \circ \phi))$, we have

$$\begin{aligned}
\nabla_{\nabla_{e_i} e_i}^\phi \frac{1}{\lambda^2} d\phi (grad (H \circ \phi)) &= \frac{1}{\lambda^2} \nabla_{\nabla_{e_i} e_i}^\phi d\phi (grad (H \circ \phi)) \\
&+ \nabla_{e_i} e_i \left(\frac{1}{\lambda^2} \right) d\phi (grad (H \circ \phi)) \\
&= \frac{1}{\lambda^2} \nabla_{\nabla_{e_i} e_i}^\phi d\phi (grad (H \circ \phi)) \\
&- \frac{2}{\lambda^2} \nabla_{e_i} e_i (\ln \lambda) d\phi (grad (H \circ \phi)).
\end{aligned} \tag{20}$$

If we replace (19) and (20) in (18), we deduce that

$$\begin{aligned} Tr_g(\nabla^\phi)^2(grad H) \circ \phi &= \frac{1}{\lambda^2} Tr_g(\nabla^\phi)^2 d\phi(grad(H \circ \phi)) \\ &\quad - \frac{4}{\lambda^2} \nabla_{grad \ln \lambda}^\phi d\phi(grad(H \circ \phi)) \\ &\quad - \frac{2}{\lambda^2} ((\Delta \ln \lambda) - 2|grad \ln \lambda|^2) d\phi(grad(H \circ \phi)). \end{aligned} \quad (21)$$

For the term $Tr_g(\nabla^\phi)^2 d\phi(grad(H \circ \phi))$, we have by (16)

$$\begin{aligned} Tr_g(\nabla^\phi)^2 d\phi(grad(H \circ \phi)) &= d\phi(grad \Delta(H \circ \phi)) \\ &\quad + 4d\phi(\nabla_{grad \ln \lambda} grad(H \circ \phi)) \\ &\quad - ((n-2)d \ln \lambda(grad(H \circ \phi))) \\ &\quad + 2(\Delta(H \circ \phi)) d\phi(grad \ln \lambda) \\ &\quad + (\Delta \ln \lambda) d\phi(grad(H \circ \phi)) \\ &\quad + d\phi(Ricci^M(grad(H \circ \phi))). \end{aligned} \quad (22)$$

For the last term $\nabla_{grad \ln \lambda}^\phi d\phi(grad(H \circ \phi))$, it is known that (see [2])

$$\begin{aligned} \nabla_{grad \ln \lambda}^\phi d\phi(grad(H \circ \phi)) &= \nabla d\phi(grad \ln \lambda, grad(H \circ \phi)) \\ &\quad + d\phi(\nabla_{grad \ln \lambda} grad(H \circ \phi)) \\ &= |grad \ln \lambda|^2 d\phi(grad(H \circ \phi)) \\ &\quad + d\phi(\nabla_{grad \ln \lambda} grad(H \circ \phi)). \end{aligned} \quad (23)$$

Replacing (22) and (23) in (21), we conclude that

$$\begin{aligned} Tr_g(\nabla^\phi)^2(grad H) \circ \phi &= \frac{1}{\lambda^2} d\phi(grad \Delta(H \circ \phi)) - \frac{1}{\lambda^2} (\Delta \ln \lambda) d\phi(grad(H \circ \phi)) \\ &\quad - \frac{1}{\lambda^2} ((n-2)d \ln \lambda(grad(H \circ \phi))) \\ &\quad + 2(\Delta(H \circ \phi)) d\phi(grad \ln \lambda) \\ &\quad + \frac{1}{\lambda^2} d\phi(Ricci^M(grad(H \circ \phi))). \end{aligned}$$

Then

$$Tr_g(\nabla^\phi)^2(grad H) \circ \phi = \frac{1}{\lambda^2} d\phi(T_1)$$

where

$$\begin{aligned} T_1 &= grad \Delta(H \circ \phi) - (\Delta \ln \lambda) grad(H \circ \phi) + Ricci^M(grad(H \circ \phi)) \\ &\quad - ((n-2)d \ln \lambda(grad(H \circ \phi)) + 2(\Delta(H \circ \phi)) grad \ln \lambda). \end{aligned}$$

This completes the proof of Lemma 1. Now, in the second lemma, we prove other properties for conformal maps.

Lemma 2. Let $\phi : (M^n, g) \rightarrow (N^n, h)$ ($n \geq 3$) be a conformal map of dilation λ , then for any function $H \in C^\infty(N)$ and for $X \in \Gamma(TM)$, we have

$$\begin{aligned} (\nabla_{d\phi(X)} \text{grad} H) \circ \phi &= -\frac{1}{\lambda^2} X(\ln \lambda) d\phi(\text{grad}(H \circ \phi)) \\ &+ \frac{1}{\lambda^2} d \ln \lambda(\text{grad}(H \circ \phi)) d\phi(X) \\ &- \frac{1}{\lambda^2} X(H \circ \phi) d\phi(\text{grad} \ln \lambda) + \frac{1}{\lambda^2} d\phi(\nabla_X \text{grad}(H \circ \phi)) \end{aligned} \quad (24)$$

and

$$\begin{aligned} (\nabla_{(\text{grad} H) \circ \phi}(\text{grad} H)) \circ \phi &= -\frac{1}{\lambda^4} |\text{grad}(H \circ \phi)|^2 d\phi(\text{grad} \ln \lambda) \\ &+ \frac{1}{2\lambda^4} d\phi(\text{grad}(|\text{grad}(H \circ \phi)|^2)). \end{aligned} \quad (25)$$

Proof of Lemma 2. For the term $(\nabla_{d\phi(X)} \text{grad} H) \circ \phi$, we have

$$\begin{aligned} (\nabla_{d\phi(X)} \text{grad} H) \circ \phi &= \nabla_X^\phi(\text{grad} H \circ \phi) \\ &= \nabla_X^\phi \frac{1}{\lambda^2} d\phi(\text{grad}(H \circ \phi)) \\ &= \frac{1}{\lambda^2} \nabla_X^\phi d\phi(\text{grad}(H \circ \phi)) + X \left(\frac{1}{\lambda^2} \right) d\phi(\text{grad}(H \circ \phi)) \\ &= \frac{1}{\lambda^2} \nabla_X^\phi d\phi(\text{grad}(H \circ \phi)) - \frac{2}{\lambda^2} X(\ln \lambda) d\phi(\text{grad}(H \circ \phi)). \end{aligned}$$

It is easy to see that (see [2])

$$\begin{aligned} \nabla_X^\phi d\phi(\text{grad}(H \circ \phi)) &= \nabla d\phi(X, \text{grad}(H \circ \phi)) + d\phi(\nabla_X \text{grad}(H \circ \phi)) \\ &= X(\ln \lambda) d\phi(\text{grad}(H \circ \phi)) + d \ln \lambda(\text{grad}(H \circ \phi)) d\phi(X) \\ &= -X(H \circ \phi) d\phi(\text{grad} \ln \lambda) + \frac{1}{\lambda^2} d\phi(\nabla_X \text{grad}(H \circ \phi)). \end{aligned}$$

Then

$$\begin{aligned} (\nabla_{d\phi(X)} \text{grad} H) \circ \phi &= -\frac{1}{\lambda^2} X(\ln \lambda) d\phi(\text{grad}(H \circ \phi)) \\ &+ \frac{1}{\lambda^2} d \ln \lambda(\text{grad}(H \circ \phi)) d\phi(X) \\ &- \frac{1}{\lambda^2} X(H \circ \phi) d\phi(\text{grad} \ln \lambda) + \frac{1}{\lambda^2} d\phi(\nabla_X \text{grad}(H \circ \phi)). \end{aligned}$$

Now we will simplify the term $(\nabla_{(\text{grad} H) \circ \phi}(\text{grad} H)) \circ \phi$, we have

$$(\text{grad} H) \circ \phi = \frac{1}{\lambda^2} d\phi(\text{grad}(H \circ \phi)),$$

it follows that

$$(\nabla_{(\text{grad} H) \circ \phi}(\text{grad} H)) \circ \phi = \frac{1}{\lambda^2} (\nabla_{d\phi(\text{grad}(H \circ \phi))}(\text{grad} H)) \circ \phi.$$

If we replace $X = \text{grad}(H \circ \phi)$ in (24), we obtain

$$\begin{aligned} (\nabla_{(\text{grad}H) \circ \phi} (\text{grad}H)) \circ \phi &= -\frac{1}{\lambda^4} |\text{grad}(H \circ \phi)|^2 d\phi (\text{grad} \ln \lambda) \\ &\quad + \frac{1}{2\lambda^4} d\phi (\text{grad} (|\text{grad}(H \circ \phi)|^2)). \end{aligned}$$

Proof of Theorem 5. By definition, we have

$$\begin{aligned} \tau_{2,H}(\phi) &= \tau_2(\phi) - J_\phi((\text{grad}H) \circ \phi) - \nabla_{\tau(\phi)}(\text{grad}H) \circ \phi \\ &\quad - (\nabla_{(\text{grad}H) \circ \phi}(\text{grad}H)) \circ \phi. \end{aligned} \tag{26}$$

We will study term by term the right-hand of this expression. For the first term $\tau_2(\phi)$, we have by Theorem 4

$$\tau_2(\phi) = (n - 2) d\phi(T_1) \tag{27}$$

where

$$\begin{aligned} T_1 &= \text{grad} \Delta \ln \lambda - \frac{(n - 6)}{2} \text{grad} (|\text{grad} \ln \lambda|^2) + 2\text{Ricci}^M(\text{grad} \ln \lambda) \\ &\quad - (2(\Delta \ln \lambda) + (n - 2)|\text{grad} \ln \lambda|^2) \text{grad} \ln \lambda. \end{aligned}$$

Let us now simplify the term $J_\phi((\text{grad}H) \circ \phi)$, we have by definition

$$J_\phi((\text{grad}H) \circ \phi) = \text{Tr}_g(\nabla^\phi)^2(\text{grad}H) \circ \phi + \text{Tr}_g R^N((\text{grad}H) \circ \phi, d\phi) d\phi. \tag{28}$$

Using Lemma 1, we obtain

$$\text{Tr}_g(\nabla^\phi)^2(\text{grad}H) \circ \phi = \frac{1}{\lambda^2} d\phi(T_2) \tag{29}$$

where

$$\begin{aligned} T_2 &= \text{grad} \Delta(H \circ \phi) - (\Delta \ln \lambda) \text{grad}(H \circ \phi) + \text{Ricci}^M(\text{grad}(H \circ \phi)) \\ &\quad - ((n - 2) d \ln \lambda (\text{grad}(H \circ \phi)) + 2(\Delta(H \circ \phi))) \text{grad} \ln \lambda. \end{aligned}$$

Since

$$(\text{grad}H) \circ \phi = \frac{1}{\lambda^2} d\phi(\text{grad}(H \circ \phi)),$$

it follows that

$$\text{Tr}_g R^N((\text{grad}H) \circ \phi, d\phi) d\phi = \frac{1}{\lambda^2} \text{Tr}_g R^N(d\phi(\text{grad}(H \circ \phi)), d\phi) d\phi.$$

Using Eq. (16), we get

$$\begin{aligned} \text{Tr}_g R^N(d\phi(\text{grad}(H \circ \phi)), d\phi) d\phi &= d\phi(\text{Ricci}^M(\text{grad}(H \circ \phi))) \\ &\quad + (n - 2) d \ln \lambda (\text{grad}(H \circ \phi)) d\phi(\text{grad} \ln \lambda) \\ &\quad - (n - 2) d\phi(\nabla_{\text{grad}(H \circ \phi)} \text{grad} \ln \lambda) \\ &\quad - (\Delta \ln \lambda + (n - 2)|\text{grad} \ln \lambda|^2) \\ &\quad \times d\phi(\text{grad}(H \circ \phi)). \end{aligned}$$

Then

$$\text{Tr}_g R^N(d\phi(\text{grad}(H \circ \phi)), d\phi) d\phi = \frac{1}{\lambda^2} d\phi(T_3),$$

where

$$T_3 = Ricci^M (grad (H \circ \phi)) + (n - 2) d \ln \lambda (grad (H \circ \phi)) grad \ln \lambda \\ - (n - 2) \nabla_{grad(H \circ \phi)} grad \ln \lambda - (\Delta \ln \lambda + (n - 2) |grad \ln \lambda|^2) grad (H \circ \phi).$$

Finally, we conclude that

$$J_\phi ((grad H) \circ \phi) = \frac{1}{\lambda^2} d\phi (T_2 + T_3),$$

where

$$T_2 + T_3 = grad \Delta (H \circ \phi) - (2\Delta \ln \lambda + (n - 2) |grad \ln \lambda|^2) grad (H \circ \phi) \\ - 2(\Delta (H \circ \phi)) grad \ln \lambda - (n - 2) \nabla_{grad(H \circ \phi)} grad \ln \lambda \\ + 2Ricci^M (grad (H \circ \phi)).$$

Now let us look at the last term $\nabla_{\tau(\phi)} (grad H) \circ \phi$, we have

$$\tau(\phi) = (2 - n) d\phi (grad \ln \lambda),$$

it follows that

$$(\nabla_{\tau(\phi)} (grad H)) \circ \phi = (2 - n) (\nabla_{d\phi(grad \ln \lambda)} (grad H)) \circ \phi.$$

If we replace $X = grad \ln \lambda$ in (24), we obtain

$$(\nabla_{d\phi(X)} grad H) \circ \phi = -\frac{1}{\lambda^2} |grad \ln \lambda|^2 d\phi (grad (H \circ \phi)) \\ + \frac{1}{\lambda^2} d\phi (\nabla_{grad \ln \lambda} grad (H \circ \phi)).$$

We conclude that

$$(\nabla_{\tau(\phi)} (grad H)) \circ \phi = \frac{1}{\lambda^2} d\phi (T_4),$$

where

$$T_4 = (n - 2) |grad \ln \lambda|^2 grad (H \circ \phi) - (n - 2) \nabla_{grad \ln \lambda} grad (H \circ \phi).$$

To complete the proof, it remains to investigate the term $(\nabla_{(grad H) \circ \phi} (grad H)) \circ \phi$, we have by [Lemma 2](#)

$$(\nabla_{(grad H) \circ \phi} (grad H)) \circ \phi = -\frac{1}{\lambda^4} |grad (H \circ \phi)|^2 d\phi (grad \ln \lambda) \\ + \frac{1}{2\lambda^4} d\phi (grad (|grad (H \circ \phi)|^2)),$$

then

$$(\nabla_{(grad H) \circ \phi} (grad H)) \circ \phi = \frac{1}{\lambda^4} d\phi (T_5),$$

where

$$T_5 = -|grad (H \circ \phi)|^2 grad \ln \lambda + \frac{1}{2} grad (|grad (H \circ \phi)|^2).$$

Finally, we deduce that

$$\tau_{2,H}(\phi) = (n - 2) d\phi (A) - \frac{1}{\lambda^2} d\phi (B) - \frac{1}{\lambda^4} d\phi (C),$$

where

$$\begin{aligned} A &= \operatorname{grad} \Delta \ln \lambda - \frac{(n-6)}{2} \operatorname{grad} (|\operatorname{grad} \ln \lambda|^2) + 2\operatorname{Ricci}^M (\operatorname{grad} \ln \lambda) \\ &\quad - (2(\Delta \ln \lambda) + (n-2)|\operatorname{grad} \ln \lambda|^2) \operatorname{grad} \ln \lambda, \\ B &= \operatorname{grad} \Delta (H \circ \phi) - 2(\Delta \ln \lambda) \operatorname{grad} (H \circ \phi) - 2(\Delta (H \circ \phi)) \operatorname{grad} \ln \lambda \\ &\quad - (n-2) \nabla_{\operatorname{grad}(H \circ \phi)} \operatorname{grad} \ln \lambda - (n-2) \nabla_{\operatorname{grad} \ln \lambda} \operatorname{grad} (H \circ \phi) \\ &\quad + 2\operatorname{Ricci}^M (\operatorname{grad} (H \circ \phi)) \end{aligned}$$

and

$$C = -|\operatorname{grad} (H \circ \phi)|^2 \operatorname{grad} \ln \lambda + \frac{1}{2} \operatorname{grad} (|\operatorname{grad} (H \circ \phi)|^2).$$

An immediate consequence of [Theorem 5](#) is given by the following theorem

Theorem 6. *Let $\phi : (M^n, g) \rightarrow (N^n, h)$, ($n \geq 3$) be a conformal map of dilation λ . Then ϕ is biharmonic with potential if and only if*

$$(n-2)A - \frac{1}{\lambda^2}B - \frac{1}{\lambda^4}C = 0.$$

where

$$\begin{aligned} A &= \operatorname{grad} \Delta \ln \lambda - \frac{(n-6)}{2} \operatorname{grad} (|\operatorname{grad} \ln \lambda|^2) + 2\operatorname{Ricci}^M (\operatorname{grad} \ln \lambda) \\ &\quad - (2(\Delta \ln \lambda) + (n-2)|\operatorname{grad} \ln \lambda|^2) \operatorname{grad} \ln \lambda, \\ B &= \operatorname{grad} \Delta (H \circ \phi) - 2(\Delta \ln \lambda) \operatorname{grad} (H \circ \phi) - 2(\Delta (H \circ \phi)) \operatorname{grad} \ln \lambda \\ &\quad - (n-2) \nabla_{\operatorname{grad}(H \circ \phi)} \operatorname{grad} \ln \lambda - (n-2) \nabla_{\operatorname{grad} \ln \lambda} \operatorname{grad} (H \circ \phi) \\ &\quad + 2\operatorname{Ricci}^M (\operatorname{grad} (H \circ \phi)) \end{aligned}$$

and

$$C = -|\operatorname{grad} (H \circ \phi)|^2 \operatorname{grad} \ln \lambda + \frac{1}{2} \operatorname{grad} (|\operatorname{grad} (H \circ \phi)|^2).$$

ACKNOWLEDGMENT

The authors would like to thank the referee for some useful comments and their helpful suggestions that have improved the quality of this paper.

REFERENCES

- [1] P. Baird, *Harmonic Maps with Symmetry, Harmonic Morphisms and Deformation of Metrics*, Pitman Books Limited, 1983, pp. 27–39.
- [2] P. Baird, J.C. Wood, *Harmonic Morphisms Between Riemannian Manifolds*, Oxford Sciences Publications, 2003.
- [3] Q. Chen, Harmonic maps with potential from complete manifolds, *Chinese Sci. Bull.* 43 (1998) 1780–1786.
- [4] A. Cherif, M. Djaa, On the biharmonic maps with potential, *Arab J. Math. Sci.* (2017) (in press).
- [5] A. Fardoun, A. Ratto, Harmonic maps with potential, *Calc. Var.* 5 (1997) 183–197.
- [6] S. Ouakkas, Biharmonic maps, conformal deformations and the Hopf maps, *Differential Geom. Appl.* 26 (2008) 495–502.
- [7] S. Ouakkas, *Géométrie Conforme Associée à Quelques Opérateurs d'Ordre 4*, (thesis), Université de Brest, 2008.

- [8] S. Ouakkas, D. Djebbouri, Conformal maps, biharmonic maps, and the warped product, *Mathematics* 4 (2016) 15. <http://dx.doi.org/10.3390/math4010015>.
- [9] A. Ratto, Harmonic maps with potential, in: *Proceedings of the Workshop on Differential Geometry and Topology (Palermo, 1996)*. *Rend. Circ. Mat. Palermo (2) Suppl. No. 49*, 1997, pp. 229–242.